Oata 31c/n Ne kab. 32clp Ne kab. 31 alg Ne kab. 301 clo Ne kab.
1 |CM opr.nnwy(n3)[1] / CMnpwu nHdp(n3)[2](301 / 306 1 |CN getam(n3)[1] 105 1 |OcH.peab.(n) 304 1
2 |CN opr.nuw(n3)[1] / CMnpu nHdp(n3)[2]|301 / 306 2 |CM peram(n3)[1] / NH.53.(n3)[2] 105/102 2 |OcH.peab.(n) 304 2
£ CN 8 xvpyp(yn)[1] / CM opr.nuwy(yn)[2]|306 / 2046
§_ E 3 |CM opr.nuw(n3)[1] / CMnpu CCC(n3)[2]|301 / 307 3 |CMnpu uHd(yn)[3] 202 3 |OcH.peab.(n3)[1] 304 3
g ¢ CM B xupyp(ym)[1]/ CM opr.nuwi(yn)[2]|306 / 2046
2 2| 4 [CNopravw(na)[1]/ CMNnpu CCC(n3)[2)]301 / 307 4 |CMnpu nHd(yn)[3] 202 4 |OcH.peab.(n3)[1] 304 4
2[5 [Kn yac(K4) 401 5 |Kn yac(K4) 104 5 [Kn yac(K4) 108 5
6 6 6 6
7 7 7 7
1 |CMN opr.nuwy(n3)[1] / CMnpu nHd(n3)[2]|301 / 202 1 1 |OcH.peab.(n3)[1] / UH.a3.(n3)[2] 104 /102 1
2 |CM opr.nuwy(n3)[1] / CMnpwu nHdp(n3)[2](301 / 202 2 |®us.kyn.(n3) CnopT3an 2 |OcH.peab.(n3)[1] / UH.a3.(n3)[2] 104 /102 2
CMnpu CCC(yn)[1] / CMN opr.nnwi(yn)[2] 108 / 2046
§_ £ | 3 |CMN oprovwy(na)[1] / UH.a3.(n3)[2] 301/102 3 |CI B xupyp(yn)[3] 306 3 |Comar.3a6.(n3)[1] / OcH.peab.(n3)[2] |105/104 3
b §- CMnpu CCC(yn)[1] / CMN opr.nnwi(yn)[2] 108 / 2046
R B | 4 |CNopr.nvwy(na)[1] 301 4 |CIM B xupyp(yn)[3] 306 4 |Comart.3a6.(n3)[1] / OcH.peab.(n3)[2] [105/ 104 4
5 5 |CI B xupyp(k)[1] 306 5 5
6 6 6 6
7 7 7 7
1 1 1 1
2 2 2 2
d o3 3 3 3
8 32 7 7 7
S °[5 5 5 5
6 6 6 6
7 7 7 7
1 |CMnpu CCC(n) 104 1 |CN getam(n3)[2] 105 1 |MNeamnatpusi(yn)[2] 407 1
2 |Clnpu CCC(n) 104 2 |CI petam(n3)[2] 105 2 |Mepwnatpus(yn)[2] 407 2
J '05). 3 |®u3s.kyn.(n3) Cnopt3an 3 |Met.doyHk.A(n3)[1] / CM B xupyp(yn)[3] |304 / 306 3 |VWH.93.(n3)[2] 102 3
8 @ | 4 |Met.cpyHk.a(n3)[1] / NH.53.(n3)[2] 304 /102 4 |WH.53.(n3)[1] / CMN B xupyp(yn)[3] 101/ 306 4 |WHdek.3a6.(n3)[1] 109 4
8 2[5 5 |CI peram(yn)[2] 302 5 |WHdek.3a6.(n3)[1] 109 5
6 6 |CI getam(yn)[2] 302 6 |OcH.peab.(n3)[1] Bon. 6
7 7 7 7
1 |ClMnpu CCC(n3)[1] / CM opr.nnw(n3)[2]202 / 108 1 |CM B xupyp(yn)[1] / CMnpu nHd(yn)[2](306 / 307 1 [Xwup.3a6.(yn)[1] 301 1
2 |ClMnpu CCC(n3)[1] / CMN opr.nuwy(n3)[2]202 / 108 2 |CM B xvpyp(yn)[1] / CMnpu nHdp(yn)[2]|306 / 307 2 |Xup.3a6.(yn)[1] 301 2
§_ S [ 3 [cnnpu und(na)[1]/ CRinpu CCC(n3)[2]306 / 202 3 |Met.dyHk.a(n3)[1] / WH.83.(n3)[2] 304 /102 3 |[WHdek.3a6.(n3)[1] 109 3
8 E 4 |CMnpw nHdp(n3)[1] / CMnpu CCC(n3)[2]306 / 202 4 |Mert.cpyHk.A(n3)[2] 304 4 |WHdek.3a6.(n3)[1] / WH.583.(n3)[2] 109/ 102 4
8 2[5 5 |/ CI peram(yn)[3] /302 5 [WH.83.(n3)[2] 102 5
6 6 |/ CIM peram(yn)[3] /302 6 |OcH.peab.(n3)[2] 301 6
7 7 7 7
1 |CMN opr.nuwy(n3)[1] / CMnpu CCC(n3)[2] 301 / 202 1 |CMnpw nHdp(yn)[2] / CMnpu CCC(yn)[3|307 / 108 1 |OcH.peab.(n3)[1] / Xvp.3ab.(yn)[2] 303/ bon. 1
2 |CM opr.nuwy(n3)[1] / CMnpu CCC(n3)[2]301 / 202 2 |Clnpwu uHd(yn)[2] / CMnpu CCC(yn)[3]307 / 108 2 |OcH.peab.(n3)[1] / Xvp.3ab6.(yn)[2] 303 / bon. 2
J g 3 |®u3s.kyn.(n3) Cnopt3an 3 |ClMnpu CCC(yn)[1]/ CM B xmpyp(yn)[3]108 / 306 3 |OcH.peab.(n3)[2] 303 3
8 8|4 4 |ClMnpu CCC(yn)[1]/ CN B xvpyp(yn)[3] 108 / 306 4 |OcH.peab.(n3)[2] 303 4
3 &[5 5 5 5
6 6 6 6
7 7 7 7




301 n/n Ne kab. 301 c/g O3 Ne kab.
1 1
2 |®u3s.kyn.(n3) Cnopt3an 2
3 |Neu.get.B.(n3)[1] / Ok.rmHek.n(n3)[2] |105/ 1066 3
4 [Ney.pet.B.(n3)[1] / Ok.ruHek.n(n3)[2] |105/ 1066 4
5 |Kn yac(K4) 201 5
6 6
7 7
1 [Ney.pet.B.(n3)[1] / Ok.ruHek.n(n3)[2] |105/ 1066 1
2 |Neu.pet.B.(n3)[1] / Ok.runek.n(n3)[2] |105/ 1066 2
3 |®us.kyn.(n3) CnopTt3an 3
4 |WH.53.(n3)[1] 101 4
5 5
6 6
7 7
1 1
2 2
3 3
4 4
5 5
6 6
7 7
1 1
2 |WH.a3.(n3)[1] / Ok.akyw.n.(n3)[2] 101/108 2
3 |Neu.get.B.(n3)[1] / Ok.rmHek.n(n3)[2] |105/ 1066 3
4 |Ney.per.B.(n3)[1] / Ok.ruHek.n(n3)[2] [105/ 1066 4
5 |®us.kyn.(n3) Cnopt3an 5
6 6
7 7
1 |WH.53.(n3)[1] / Ney.get.B.(n3)[2] 101 /105 1
2 |Ok.runek.n(n3)[1]/ Ney.get.B.(n3)[2] |1066 / 105 2
3 |Neu.pet.B.(n3)[1] 105 3
4 [Ney.pet.B.(n3)[1] 105 4
5 |Ok.akyw.n.(k) 108 5 |CIN B JIOP(yn) 109
6 6 [CM B JIOP(yn) 109
7 7
1 |Ney.get.B.(n3)[2] 105 1
2 |Neu.pet.B.(n3)[2] 105 2
3 |Neu.get.B.(n3)[1] / Ok.rmHek.n(n3)[2] |105/ 1066 3
4 |Ney.per.B.(n3)[1] / Ok.ruHek.n(n3)[2] [105/ 1066 4
5 5
6 6
7 7




1 |ClNnpu CCC(n3)[2] 303 1 |CIM opr.nnwi(yn)[2] / CMnpwu nHd(yn)[3]]2046 / 306 1 1

£ | 2 |Clnpu CCC(n3)[2] 303 2 |CMnpw nHdp(yn)[2] / CMN opr.nuwy(yn)[3]|306 / 2046 2 |Xup.3a6.(yn)[1] 301 2

§_ é 3 |O.nab.guar(n) 104 3 |CI B xupyp(yn)[2] / CMnpn CCC(yn)[3]306 / 202 3 |Comar.3ab.(yn)[1] / Xup.3ab.(yn)[2] 303 /301 3
8 &1 4 |CN opr.nunwi(n) 206 4 |CN B xupyp(yn)[2] / CMnpu CCC(yn)[3]306 / 202 4 |Comart.3ab.(yn)[1] / UHdek.3a6.(yn)[2] |303 / 109 4
8 % 5 |CI opr.nnwy(n3)[1] 108 5 |CI petam(yn)[1] 106 5 [WHdek.3a6.(yn)[2] 109 5
E | 6 |CIM opranw(n3)[1] 108 6 |CI pgeram(yn)[1] 106 6 |OcH.peab.(n3)[2] 2046 6

7 7 7 7

1 |CMnpu CCC(n3)[2] 301 1 |CMnpu CCC(yn)[1]/ CM B xupyp(yn)[2] 109 / 306 1 |MNeamnatpus(yn)[1] 407 1

2 |ClMnpu nHd(n3)[1] / CMnpu CCC(n3)[2]202 / 301 2 |Clnpu CCC(yn)[1]/ CIN B xupyp(yn)[2]109 / 306 2 |Mepwnatpus(yn)[1] 407 2

J % 3 |ClMnpu nHd(n3)[1] / H.a3.(n3)[2] 202 /102 3 |Pu3s.kyn.(n3) Cnopt3an 3 |Comar.3ab.(yn)[1] 301 3
”8_ S| 4 |O.nab.guar(n) 104 4 |CMnpwn nHd(k) 202 4 |Comart.3a6.(yn)[1] / UHdek.3a6.(yn)[2] [301 /109 4
S5 a5 5 |/ CI petam(yn)[3] /106 5 [WHdek.3a6.(yn)[2] 109 5
6 6 |/CIN geram(yn)[3] /106 6 |OcH.peab.(n3)[2] 2046 6

7 7 7 7

1 1 1 1

2 2 2 2

d o3 3 3 3
8 32 2 2 2
8 °[5 5 5 5
6 6 6 6

7 7 7 7

1 1 1 1

2 2 2 2

J 5|3 3 3 3
E B[4 4 4 4
g ?[5 5 5 5
6 6 6 6

7 7 7 7

1 1 1 1

2 2 2 2

& 3[3 3 3 3
8 I[4 4 2 4
e 2[5 5 5 5
6 6 6 6

7 7 7 7

1 1 1 1

2 2 2 2

g e[3 3 3 3
8 32 2 2 Z

. O

= &[5 5 5 5
6 6 6 6

7 7 7 7




Jley.pget.B.(n3)[1] / Ok.rmHek.n(n3)[2]  |105/ 1066

INey.pet.B.(n3)[1] / Ok.ruHek.n(n3)[2] |105/ 1066

WH.q3.(k)[1] / Ney.peT.B.(n3)[2] 101 /105
INey.pet.B.(n3)[2] 105
Kn yac(K4) 201

INey.pet.B.(n3)[1] 105
Jley.pget.B.(n3)[1] 105
INey.pet.B.(n3)[2] 105
Jley.pet.B.(n3)[2] 105
Ok.akyLu.n.(K) 108
Jley.pget.B.(n3)[1] 105
INey.pet.B.(n3)[1] 105
Jley.pet.B.(n3)[2] 105
INey.pet.B.(n3)[2] 105
OK.rMHekK.n(k) 1066

N[O D|WIN[=2|N[O|AO|H|WIN| =[N DWIN|=2N[O|AO|H|W[IN 2N R WIN|=2|N[O|O|H|WIN| =

N|O|O|R|WIN|=2 N[O B|W[IN|2|N|O|O|R|WIN|=2|N|O|O|R]|WIN| 2| N[O A|WIN]| 2 |N[O|OBWIN|—




